
Имя: Ключ к правильным ответамДроби и задачи на деление

Математика www.CommonCoreSheets.ru 1 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Ответы

об. 78⁄9

1. 91⁄3

2. 61⁄2

3. 91⁄4

4. 61⁄5

5. 94⁄7

6. 65⁄10

7. 72⁄6

8. 41⁄10

9. 53⁄6

10. 21⁄3

11. 64⁄6

12. 108⁄9

13. 81⁄2

14. 51⁄3

15. 108⁄10

16. 105⁄10

17. 27⁄8

18. 104⁄7

19. 106⁄7

20. 102⁄3

Решите задачи как деление. Запишите ответ в виде дроби.

об) 71
9

= 7 8
9

1) 28
3

= 9 1
3

2) 13
2

= 6 1
2

3) 37
4

= 9 1
4

4) 31
5

= 6 1
5

5) 67
7

= 9 4
7

6) 65
10

= 6 5
10

7) 44
6

= 7 2
6

8) 41
10

= 4 1
10

9) 33
6

= 5 3
6

10) 7
3

= 2 1
3

11) 40
6

= 6 4
6

12) 98
9

= 10 8
9

13) 17
2

= 8 1
2

14) 16
3

= 5 1
3

15) 108
10

= 10 8
10

16) 105
10

= 10 5
10

17) 23
8

= 2 7
8

18) 74
7

= 10 4
7

19) 76
7

= 10 6
7

20) 32
3

= 10 2
3
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6
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6
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= 10 8
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8
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7
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7

19) 76
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Облегченный вариант 1

Решите задачи как деление. Запишите ответ в виде дроби.

72 ⁄6 94 ⁄7 65 ⁄10 41 ⁄10 53 ⁄6 61 ⁄5 81 ⁄2
91 ⁄4 64 ⁄6 21 ⁄3 91 ⁄3 51 ⁄3 108 ⁄9 61 ⁄2

об) 71
9

= 7 8
9

1) 28
3

= 9 1
3

2) 13
2

= 6 1
2

3) 37
4

= 9 1
4

4) 31
5

= 6 1
5

5) 67
7

= 9 4
7

6) 65
10

= 6 5
10

7) 44
6

= 7 2
6

8) 41
10

= 4 1
10

9) 33
6

= 5 3
6

10) 7
3

= 2 1
3

11) 40
6

= 6 4
6

12) 98
9

= 10 8
9

13) 17
2

= 8 1
2

14) 16
3

= 5 1
3

Ответы

об. 78⁄9

1. 91⁄3

2. 61⁄2

3. 91⁄4

4. 61⁄5

5. 94⁄7

6. 65⁄10

7. 72⁄6

8. 41⁄10

9. 53⁄6

10. 21⁄3

11. 64⁄6

12. 108⁄9

13. 81⁄2

14. 51⁄3

1-10 93 86 79 71 64 57 50 43 36 29
11-14 21 14 7 0
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